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iDAl{rlv ‘AA
Choose the corveet Answer:
(5% 1 =5 Marks)

| conguered China,

1) Indians
( (b) Japanese (¢) Americans () Manchus
3 Your dream should not cloud your

{emotion (b) reason (c) night (d) rain

____pounds as wedding gift to Jack and Jill.

vy

CAunt Jane gave
(d)y2

(a) 2000 (b) 20 | g (c) 200

The cheque of ten pounds was paid to

(a)ihe owner (b) the nurse (c)Dr.Martin (d) the painter

5 is the main source of superstition.

(a)fear (b) ghost (c) God (d) rumour

PART - B
Answer Any Three Questions (3 x 4=12 Marks)

6. Explain the virtues said in the poem ‘If".

7 Describe the character of Jill in the play “The Never-never nest’.
8. Write a conversation between two friends talking about the election and society.

9. Change the following sentences into passive voice

a) The old man planted a tree b) Close the box
¢) Who wrote this essay”? d) Mr. Kumar teaches us Physics.

PART - C |
Answer Any One Question. E =4 (1 x8=8Marks)

10. What are the rules given by Russell to escape from intellectua
1. Describe the situation in the house of Jack and Jill in the play

[ rubbish?
‘The Never — never nest’.
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) ) Part - A
(Answer all questions) : Byl=5
1. The lines is parallel to the plane i1 0
W0 ) 90 ) 1 d) 45
2. Two lines are coplanar il” they are
b) not infersect ¢) intersect d) none

; a) parallel
w 3. The radius of the sphere x*1y” 127-2x12y-42-3=0 is
7 )4 h)2 )3 4y5
4. The plane passes through centre of the sphereis
a) circum circele b) circle ¢) great circle d) none
5. In the sphere equation X”1-y* 17271 2ux 1 2vy+2wz 1 d=0 if d is positive, then origin lies

~__the sphere
d) within

a) inside b) outside c) on

Part- B
(Answer any three) 4x3=12
6. Prove that the lines 3x-4y+2z = 0 = -4x+y+37, x+3y-57+9 =0 =Tx-5y-7+7 are
parallel .
o . . . i X=2 y~-1 2—4
7. Find the equation of orthogonal projection of the line —= = === == onto the

” plane 8x+2y+92-1=0.
8. Find the equation of the sphere having the circle X>+y?+7>-2x-+4y-67+7=0 and

2x-y+22=5 for a great circle. |
9. Find the equation of the sphere which touches the sphere KAy 477 -6%+ 22+ 170

at the point (2,-2, 1) and passes through the origin.
Part—C
(Answer any one) 1x8=8

— —
—

10. Find the angle between the line — =
[1. Find the equation of sphere which passes through the circle x2+y2+7,2-2X~45’:'07

x+2y+3z=8 and touches the plane 4x+3y=25.

zj and the plane x+2y+7-3=0.
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PART - A
5x1=5 Marks)

Choose the correct Answer:

x1 4 Be*? | then the two roots will be

[ IFC.Eis Ae

(a)equal (b) imaginary (c) unequal (d) zero
2.The particular integral of(D? — 1)y = 21is

(a)2 (b)-2 (©)X @ 2
3, The number of roots of D2 —4D +4)Y =0

@ (®)3 (¢)2 ()0
4170 = x =, then L =

(dy*

(a)0™ (6)o(O — 1) ...(6 —m+ 1) (©p

5. The equation known as Clairaut’s is of the
(b) x=py+(p)

(a)y = px + [(P)
PART - B
B3x4=12 Marks)

form ?
(c) xy=px+f(p) (d) xy=py+{(p)

Answer Any Three Questions

6. Solve (D? + 4)y = e+ cos2X

7 Solve (D? = 7D = 6)y = e?* (14 x)

¢ Solve (D? = 12D +16)y = (e* +e
9 Solve (D* — )y = sin*x

—ZX)Z

PART -C ¥
(1x8=8 Marks)

Answer ANY One Question.
10. Solve (03 -‘:w?f +3D—1)y=xe*+e*

1. Solve x --1 ?xzdy-* dy#y*x‘i'logx
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' Part— A
Answer all questions
(A 1 ons) 5x1=5

1. dis common divisor of a and b iff

a) ged(a/d |, b/d)=1 b) ged(a/d, b/d)=d ¢) ged(a,b)=1 d) ged(ab) =n
2. A repunit integer has the form

- 10" -1 1041 n. n_ s

J) - h) 94 : p C) 10()’1 d) lO(I i
3. Which of the following Diophantine equation can be solved?

a) 6x + 51y = 22. b) 14x + 35y=93  ¢)33x+ 14y =115,  d) 66x+121y=13
4. The only prime number of the form n’-1is

a)7 b) 61 c) 97 d) 181
5. ax = b(mod n) has a solution(ged(a,n)=d) if

a) n/d b) d/a c) d/b d) b/d

Part -B
(Answer any three) 3x4=12
6. Prove ged(a,b) .lem(a,b) = ab
7. If p is prime then prove \/E is irrational.
8. Ifpand p’+ 8 are prime then prove p’+4 is also prime.
9. Solve 172x+20y=1000.
Part-C
1x8=8

(Answer any one)

10. State and prove fundamental theorem of Arithmetic
11. Prove that the linear Diophantine equation ax + by = ¢ has a solution if and only ifd/c,

where d = ged(a, b). 1f xo, Yo is any particular solution of this equation, then all other

. t . : .
solutions are given by X= Xo + (ﬁ) t ; Y=Yo —(g)t where ¢ is an arbitrary integer.
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Choose the correct Answery

y The onder o =1 In (€7,.) s

(@t (2
2 The set of all generators of group (2,5,@®) is
@234 M13,0,9

;1 'f‘ft’&?* 0.!”\'&‘{' th l W (; ). i )\

@t ()2

{alt (1S

5§, contains

(@l (b)4

PART- B
~Answer Any Three Questions

6. A subgroup of a eycelic group is cyelic

Al(il-‘. Or ARTS
ATy ¢ ol M

e

(©)4

© L5711

(©)4

4. Number of elements in a cyelic subgroup <2> s (2,4,®)

(©)9

()9

& SCIENCE AR D : .
ATHEM /\:\\(C‘s’ + CBLA BRAL,
\ 1= B.8e
Nemester - 11 1A
Absteaet Algebra )
Session: FN
Total Marks: 25

(5 x 1 =5 Marks)
(d) infinite
(d)2,3,5,7,11

(d) infinite
()5

(d)6

(3 x4 =12 Marks)

- - 4 S .
7. Let G be a group and let a be an element of order n in G. Then the order of a°, where 0<s<n, is

w/d where d is the g.c.d of nand s.

3. pi\iifc that the collection of all left cosets forms a partition of a group.

9. prove that any group of prime order has no proper subgroup.

‘ jo PART - C
Answer Any One Question.

(1 x 8 =8 Marks)

10. Let G be a group and H be a subgroup of G. Then ()a€ H & al = H (i) aH=bH&

a~'b € (jii) a€ bH < a~! € Hb™\(iv) a€ bH & aHl = bH

I, State and prove lagrange’s theorem.
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: PARY .
Choose (he correet Angwep, oA
£l (5% 1= 8 Murks)

K X, 0)/x,y ¢ n
WA L, ) Va(lt 0/ x ¢ I
gleta=a+ibe Cand i ¢ R iy no(y veelor “lmu(.'((x?ilwzt( )W 0my/x €y
@.au € R (h).0e » (e)lec i (dy.ou g n
3, .L((11) =
] ({]).I\) (h).(‘) (c)'l/’ ((').(;
4, A liner transformation: VW jg called g
a) constant b) variable ¢) liner functional dy none
5.105={(1,0)(0,1) } € V,(R), then L(S)-
a) V,(R) b) V3(R) ) V(1) dy R

PART - 13

Answer Any Three Questions (3 x 4 =12 Marks)

a linear transformation.
7. Let V be a vector space over a Field I' and $;7'€ V. Then (@S ET = L(S) S LT
(b). LSUT) = L(S) + L(T) (¢). L(S) = S il S is asubspace of V.,
8. prove that the vectors (1,2,1), (2,1,0) and(1,-1,2) arc lincarly independent in the
vectorspace V3(R) ‘

6. Prove that T: R? — R? defined by T(a, b) =(2a - 3b,a + 4h) is

9. show that any subset of linearly independet set is lincarly independent.

PART-C =
Answer Any One Question. (1 x 8 =8 Marks)
10. State and Prove Fundamental theorem of homomorphism on vector spaces.

I If Vis a vector space over a field I and A B subspaces of V. Then show that

A+B _ B

—

A= T Ang
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h- PART - A
Choose the correct answer v (6 x 1 =6 marks)

I. If @isamultiple root of f(x) = 0 s multiplicity m, then it is a multiple root of
f*(x) = 0 with multiplicity.
a)m b) m-1 c)m+ 1 d) none

2. One of the root of the reciprocal equation X° + 4x* + 3x3 + 3x% + 4x+ 1 = 0is
a)x=1 b)x=-1 c)x=2 d)yx=-2

3. If we multiply the roots of the equation 2x* — 3x3 4+ 3x2—x4+2=0 by 2 we get
a)dx? —6x° +6x2—2x+4=0 -~ B4x*—3x3+6x2—x+4=0

Ox*—3x*+3x*—x+2=0 dx*—3x*+6x>—4x+16=0

4. Ifx® + 3Hx + G = 0 where G2 + 4H2 = 0 then two roots are

a) Real b) Imaginary c) real & equal d) none

5. Between two consecutive real roots of the equation f(x) =  there is atleast one real root of

the equation
a)f(x)=10 =0 of'(x)=0 d f""(x)=0

6. method is used to find irrational roots.

a) Newton’s b) Homer’s c¢) Rolle’s d) Sturm’s
PART - B

Answer ALL questions, choosing either (a) or (b) (4 X 5 =20 marks)

7. a) Find the nature of the roots of the equation 4x3 — 21x% + 18x+ 20 = 0.(OR)

b) Solve the equation X* + 2x> — X — 2 = 0 through integral roots.

8. a) Find the sum of the cubes of the roots of the equationXx® = X? + X+ 1 (OR)
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PART - A T

Choose the correct answer
(6 # 1 =6 marks)

1. If @ is amultiple root of f(x) =0 its multiplicity m, then it is a multiple root of
f*(x) = 0 with multiplicity.
a)m b) m-1 c)ym-+ | d) none

2. One of the root of the reciprocal equation X% + 4%% + 3%% + 3%% + 42+ 1 = 0is
ayx =1 b) x = -1 c)x =2 d)x=-

3. If we multiply the roots of the equation 2x* — 3x? + 3x%? — x + 2 = 0 by 2 we get
a)dxt —6x3 +6x2—2%x+4=0 = b)4x*—3x3+6x2—x+4=0
x*—3x*+3x>—x+2=0 d)x* —3x* +6x> —4x+16 =0

4. Ifx3 + 3Hx + G = 0 where G? + 4H? = 0 then two roots are
a) Real b) Imaginary c) real & equal d) none

5. Between two consecutive real roots of the equation f(x) = 0 there is atleast one real root of

the equation

a)f(x)=0 fG)=0 of'(x)=0 df""(x)=0
6. method is used to find irrational roots.
a) Newton’s b) Homer’s  c¢) Rolle’s d) Sturm’s
PART - B

Answer ALL questions, choosing either (a) or (b) (4 x 5 =20 marks)

7. a) Find the nature of the roots of the equation 4x3 —21x% 4+ 18x+20=0.(OR)

b) Solve the equation X* + 2x3 — x — 2 = 0 through integral roots.

8. a) Find the sum of the cubes of the roots of the equationxS =x*+x+ 1(0R)
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PART - A

—

Choose the correct answer
|. CD-ROM stands for (6 x 1 =6 marks)
(a) compact disk read only memo
) ry (b " .
(C) cornpuler dlSk read On]y ]‘nem()ry (d; (;)(;1:]28(:[ d‘Sk read on m(.m()ry

2. disksare slower to access than harq disks

‘(a) Floppy (b) ;ip (¢) compact (d) hard disk
3. The internal structure of www is built on a set of rules called ‘
(a) TCP/TP (b) HTTP (c)FTP (d) None
4. The service used to transmit live video and sound is .
(a)ISDN (b)ATM (c) TI (d) DSL
5 A is a program that combines object modules to form an executable program.
(a) linker - (b)compiler  (c) debuggers (d) assembler

6. forms a barrier between networked computers within an organization and those outside the
organization.

(a) firewall (b) disk cleanup (c) virus protection  (d) All
Answer ALL questions, choosing either (a) or (b) (4 x5 =20 marks)
7. (a) Define RAM and its types. (Or)
(b) Write short notes on interaction between RAM, ROM&CPU.
8. (a) Explain about the basic internet terms. (Or)
(b) Explain about E-commerce.
9. (a) Explain about types of Operating system. (Or)
(b) Explain about software piracy
10. (a) Write about Data over internet. (Or)
(b) Explain about imminent technologies.
PART - C
Answer ALL questions, choosing either (a) or (b) (3 x 8 =24 marks)
11. (a) Describe about types of Magnetic disk (Or)
(b) Explain about types of Optical disk
12. (a) Discuss about Internet Application. (Or)

(b) Briefly discuss on Bluetooth and GPS
13. (a) Explain about Functions of Operating System.
(b) Explain about categories of software.

(Or)
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‘ BART A
1. Choose the covveet MUNWEE. ‘
. (‘) X 1 e ( “1 3
LA singlesvalue ’ ( ' > Marks)
sglevatued tanetion | v ) TRRRL s
equation NN ) B said 1o be o hanmonie function if value of the | aplace

a) Q . -
R ‘. \ v 0“\ MV

R L N 18 the h\\\luﬁnuu Of the surtace § on the xy - plane nlw.,

a) ” G AS = I ¢ ANy

-

l'\'(”'\}‘]
by (s = [ ¢
IFpas= [I¢ e

<) U G dsS = [ ¢ }‘r-‘?]‘
o )
d) none

T 2 s b s . ‘ ~ i
IV s the volume of the region enclosed by the surface S, then ff #.dS is

fod

a) vV b) 2V ¢) 3V d) 4V
4. The volume of the upper hemi sphere x? + y? + 2% = a? is

Q) ‘;‘ﬁ a’ b)% mad ¢)ma’ d)2 7ad -
S. The value of [ T.dt along t{ny closed curveis !

a) 0 b) 2n ¢)-m dym

6. [[A.dS= [[[(V.A)dV is
a) Gauss divergence theorem.
b) Green's theorem
c) Stokes’ theorem

d) None
PART - B
Answer ALL questions, choosing either (a) or (b) (4 x 5=20 marks)
7. a) Find the equation of the tangent plane to the surface x2 4+ 2y? + 3z® = 6 at the
point(1, -1, 1). (OR)

b) Find the value of ‘a’ if A= (axy —z?) i+ (x* —2yz2)j + (y? — axz)k is irrotational.
8. a)Iff = xi+yj +zk thatis,if f is the position vector of a variable point (X, ¥,
7)and [£] = r. Show that () V (%) = 5. (i) Vf () = f'(F
. (OR)
b) Find [F.dF,if F=(3x* +6y)i—14yzj+ 20x2k and C is the curve X =t,
y = t?,z = t3 from(0,0,0) to (1,1,1).
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e s st

A A o e i

, PART . A
Choose the correct answer ol '
(6 » 1 =6 marks)

If the given data consist of unequal i
- & ll Inlcrv]l , 5
rvals we use formada

) l)‘v]ded di rfoC"C(.’ ')) Tra pezoidal (:) ',“‘lg]d’ llgt; d) I 11 fff.'f(:ﬁﬁ’dl‘if i1l
a 5 Lol

Given uo = 5, 1= 15, uy = 57. Then u(0)=

2.
a) 32 b) 10 ) 42 d) 52
3. Fvaluating f;% by numerical inlegratiénwc obtain approximate value of
a) log.2 b) logo 2 ;)e dy
4. The error in Simpson one-third rule is of order
a) h* ‘ b) b’ c) h d) none
5. The complementary function for y,,, = ryn is
a) A(1/2"+B b) A(172)" o A" d) A%
6. The particular integral for Ups - 4Up+4U, = 2" is
2) (A+Bn)2" b) My g 2D g ppnp,
PART-B

Answer ALL questions, choosing either (a) or (b) (4 x 5=20 marks)

7. (a) The value of U(x) are known at a, b, c.'Show that maximum or minimum of
lagrange interpolation polynomial is attained at x = % . (OR)

b) Find f(4) by Newton divided differenge formula
' x | 2 \ 3 \ 5 \ q

y 13\19\38\51\

o @ | o] w %)

19.96 | 36.65 | 58.81 | 7721 | 9461 |

8. a) Find the first and second derivative at x=51 from
(OR)

following data







DON BOSCO ¢

COLLEGE OF ARTS AND SCIENCE

- B.Se (Maths) -
INTERNAL - 11

REAL ANALYSIS
pate: 10.09.2018 ANALYSIS 11
=T I Total: 25
PART — A

[, Choose the Correct Answer:- s
N S x I =5 Marks)
|. Iffis a continuous bijection, then f-1
a) Iscontinous b)is not continous c)need not be continous d) non
] B one
9, - fuR R defined by f(x) = x2 is
2.
a) continous b) uniformly continous ¢) not continousd) both (a) & (b)
i 3. Which of the following metric spaces is not complete?
a) R b) € c) (0,1] d) R™

4. Any subset of a discrete metric space has limit point.
a) many b) one c) no d) infinitely many

5. For any convergent sequence (x,,), the limit is

a) many b) unique c)0 d)none

PART - B

II. Answer Any Three Questions:- (3 x 4 =12 Marks)

1. Prove that the function f: (0,1) — R defined by f(x) = i is not uniformly continous.

Let (M,d)be a metric space then any convergent sequence in M is a Cauchy sequence.

(o]

Prove that C with usual metric is complete.

S L

f:R - Riscontinous ata € R iff w(f,a) = 0.

PART - C

M. Answer any ONE of the following:- (1 x 8 = 8 Marks)

I. State and prove Cantor’s intersection theorem.

2. Prove tha fis continous iff inverse image of every open set is open.
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. Part —A
(‘\nswer all Questions) I
. AV= a) E-1 b) 82 & 1opd -
2. The formula for finding the value of y in unequal imcr\r:\l)is
a) Gauss Backward b) Stirling ¢) Lagrange d) Newton
3. If (=1 f{6)=3 then the interpolating polynomial is
) 3x-8 byx=3 ¢) x-3 d) 3x-2 \
4 IffX)= {/x>then[ab] =
. - a+d el e |
5. 3) a?b? b) at+b? ) —a?+4b? d a+b &
6. When the value of x lie in the middle of table we use formula
a) Newton forward b) Gauss forward ~ ¢) divided difference d) Trapezoidal
Part -B
3x4=12

(Answer any three)

6. Prove that %52 +6 /1 + (—%—‘A

2 2
Explain the difference between (95—) f(x) and AF 1{((:)) . Hence find the

N2

8. l;’iilclilecstxgifctgzsl;r:\cl)l:lfilzalf\(\:gﬁ—cl?t‘akes given data P \ 0 \ 1 \ 2 \ 3j
B

\x

F

using Newton’s interpolation formula 1
20 \24 \28 \ J

9. Apply Gauss Backward interpolation formula to 1
\2854 \ 3162 \ 3544 \3992J

find y(25) for the given data.

Part —C
(Answer any one) - 1x8=8
10. For the following table estimate the valueof y 3

40 \50 \60 \70 \80 \90
184 | 204 \226 \250 \276 304

When (i) x =48 (ii) x = 84 using suitable y
formula
Il.Estimate  yo  using (i)Lagran

ge formula (ii) Newton divided difference

Lt 7 11 13 17
y 150 [392 | 1452 | 2366 | 5202

L
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PART-A
the correct Answer:
cpoose! (5x 1 =5 Marks)

: gx’ORM stands for___
(2) write once read many (b)write once read once (c) read only  (d) write only
(2) tracks (b) sectors (c) rings (d) None

of a hard disk is the average time it takes for the disk to find the data you need on the

1 The___—

platers
(2) seek time (b) rotation speed (c) transfer rate (d) All
i L formatting is embedded in document as text base tags using special character sequences
(a) RTF (b)Plaintexgt ~ (c)ASCII  (d) Unicode
5 isa Jossless compression replacement of GIF ,additional capabilities compared to GIF
. (@TIFF (b)BMP (OPEG  (I)PNG
* PART - B
- Answer Any Three Questions (3 x 4 =12 Marks)

6. Explain about types of magnetic disk.

i 7. Write about the types of ROM

8. Define Multimedia and Explain it

9. Write short notes on Multimedia applications.

E

§ PART-C
- Answer ANY One Question. (1 x 8 =8 Marks)

10) Explain about types of secondary storage devices.

1) Explain about building blocks of multimedia.
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IEELA VAL,

e
ime.

e
-

puration:

, . PART .« A
oF ALL Questions:
E v ;
i (85 1 = 5)
0 Murali aecount is an example for
W personal Ale byreal A/ .
i s of debit all expenses and iy Ve €) nominal Afe ) none of the shove
2) The rule 0 €€ Xpenses and issues eredit al) patng mod fneome .
- spsonal A/e byrenl Al ' : '
‘u) th iy is followed by a ln'icl? ~ | N(. . ¢) nominal Afe d) nane of the ahuve
) Eachen ry 18 ) 3 | summary ol the details of tansactions knowi
0y Y 3 Y A » . !
a) entry ' ) debit entry ¢) naration d) credit entry
: 9 What is & Journal? 5
a) lost "mmml b) ledger ¢) Primary book d) posting,

e represent owners fund invested in a Business

a) Drawings b) Credit ¢) Ownery dy Capital
Part-B
pswer any three Questions ¢ (3% 4 = 12)
6) Explain the Accounting rules,
- 7) Define the ledger. What are the advantages of Ledger?
8) Difference between Journal and Ledger,
9) Pass journal entries for the following transactions.

Rs.
) Capital introduced 1,50,000
11) Cash purchases 40,000
1) Amount deposit in Bank 1,00,000
IV)lssue cheque to Mr.X 25,000
v)Goods sold to Y 1,25,000
Part - C
swer any one (I1x 8 =8)
10) Enter The following transactions in the journal.
[.1.2015 Commenced business with a capital of Rs.1,00,000

3.1.2015 Bought furniture Rs.6,000
10.01.2015  Purchased goods for cash Rs.10,000
13.12015 Bought goods from A Rs.25,000
20.1.2015 Sold goods for cash Rs.32,000
, §3 ;2015 Sold goods to B for Credit Rs.72,000
«:'3]'1-331 5 Paid salary to Krishnan Rs.7,000
e 15 Received commission Rs.2,800 L
8 Journal? And explain the merits and demerits of journal?




DON BOS¢
BOSCO ¢ OLLEGE OF ARTS AND SCIENC
i B.8c (Mathy) e
INTERNATL, - |
REAL ANALYSIS 1

M‘""—ﬂ-—
PART -~ A

Total: 25

pate: 23.07.2018
o

. Choose the Correct Answeps. (5 x 1 =5 Marks)
[, Inametric space (M,d) the dinmeter of gy emply set @ is
a) ?) b) 1 ) dy -on
2, Which of the following is incorrect 9 ' @) (0,1] is uncountable by [0.1] is
uncountable  ¢) Q is uncountable d) {OJUL1YU{2Y is uncountable
3. In Rowith usual metric Let A<[0,1], Then Int A -
a) {0} b) {1} ¢) {0,1} d) (0,1
4. Lvery subset of a diserete metrie spacejs
a) Open b) open ball ¢) closed d)0
5. Adsclosed iff A=
a) A byAuB ¢)A d)0
b)
* i (3 x 4 =12 Marks)

1.  Answer Any Three Questions:-

I. Prove that (0,1] is uncountable

2, Prove that every open ball is an open set
In any metric space the intersection of a finte number of open sets is ope

In any metric space arbitrary intersection of closed sets is closed,

1. Answer any ONE of the following;:- (1 x 8 = 8 Marks)

N
L. In a metric space (M,d)n! we define p(x,y) = ’i'TI(””) then prove that p and d are

equivalent metrices.
2. Inany metric space every closed ball is a closed set

120 5 D AT S
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PART -
choose the correct Answer: RT- 8
. ; _ (5x1 =5 Marks
1) The Information generated by final reports of en'terpﬁse is known :
a).Financial A/c ~ b) Cos ®
) T ) Cost A/le  c).Management Alc d) None of these
2. Accounting 1S : R
AnArt i |
a) AT b) A Science c¢)Bothaand B d) none of these.
3_The accounting equation of Dual Aspect concept is
-1 +Liabilities= _ i3
a)-Cfplfa.l. Liabilities= Asset b).Capital + Assets= Liabilities
c).Liabilities +Assets= Capital d).None of these

4. Double entry means

A) Entry in two sets of books b) Entry at two dates

C) Ent'ry for two aspect of the transaction | d) None.

5) Business s Distinct from owner This concept is called ;

a) Business Entity Concepts b) Going Concern Concept

¢c) Cost Congepts ~d) Revenue Concepts

PART-B
Answer Any Three Questions | (3xa=12 Marks)

6). What are the Objectives of Accounting?

7).What are the Accounting Conventions?

[ g

: 8).‘What are the Advahtages of Déuble Entry System?

‘9).Explain 1) Business Entity Concepts |
2) Money Measurement Concepts

PART-C

(1x8=8 Marks)

Answer ANY One Question.

10.Define Accounting? What are the Function of Accounting?

L1).Explain various accounting concept briefly-
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Cpoose the correct answor

, | o (5% w1 = % Marks)
A pi,]ynnmm\ 100 s divided by woy then the remininder is

¢ e oot of the equation x% o 248 TR L | /
11 ohe | by 1y 17 = (g2 ‘j/ then the othier foot §a

(ay 27 (D) =247 (@ -2 V71 (dy none

The sum of the roots of the equntion x4 &= * oy o4 2 1w

(g} 5 (h)?2 (c) ) (o
. 1f the roots of the equation X% = 6x* 4 18x ~ 10 = 0 are tn AP, then one oot is
(a) 2 (b3 (c)4 (cly -2
The equation A Bx? = 6x A 2 = 0 hay
(a) atleast one positive real root () atlenst one nepative real root
(¢) atleast one real negative root (¢h none
PART - B
answer Any Three Questions (3 x 4 = 12Marks)

6 Solve the equation x4 2% = 5x% 4 6x + 2 = 0 plven |+ V=T is aroot of it,

7 Solve 2% = 5x® 4 4x? + 8x — 8 = 0 given that one of the voot iy 1 - Vs,

4 Solve the equation 27x% -+ 42x* — 28x = 8 = 0 whose roots are in G.P

5. Find the sum of the fourth powers of the roots of the equation x¥ = 2x* 4 x — 1 = 0.

PART - C
Answer Any One Question. - (1% 8 =8 Marks)

10. Show that the roots of the equation x* 4 px® - qx < 1 = 0 are in Avithmetic progression if
2p* = 9pg 4 277 = 0. Show that the above condition is sutisfied by Xt 6x?* +13x~10=0
and solve it,

Wodfa, 5, are the roots of the equation x™ - ax - b = 0 find

WIG  HIGH (¢) Yo a?f () % a
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- A (5x1 =Sy———
I. Choose the correct Answer:
1. In Vg(R)) S = {(11010)1 (2;0,0), (3,0,0)] rrhen L(S) o
(@S O{(x,3,0)/x,y e R (). V. ‘ )
. o ’ C). Va J 44 (4 y, {3
 The Value of dim V,(R), } €)Va(R)  (d){(x,09)/x = £}
(a).n-1 (b).n? (©).2n «
3.ker Tis also called . ¢ o
@0 (b). null space (c)rank of T (d).nullity
4leta = a+ibe C and u € R is not a vector space, since
(a).au ER (b).0e R (c).1€R (d)..ou 2R
SL({L i}) = o ’ T
(a).R (b).Q ().Z d).c
PART - B
I Answer Any Three-Questions 2l (3 x4 =12 Marks)

6. Prove that T: R* — R defined by T(a,b) = (2a — 3b,a + 4b) is a linear transformation.

7.LetV be a vector space over a Field F and S, T < V.’Then @SEST = L(S) S L(T
(b). L(SUT) = L(S) + L(T) (c). L(S) = S iff S is asubspace of V.

8. Let V be a finite dimensional vector space over a Field F. Any linearly independent set of

‘vectorsin V' is a part of a basis.

" 9. LetV be a vector space over a Field F. Let S € V. Then the following are equivalexft (i). Sisa
basis for ¥ (ii). S is a maximal linearly independent set (iii). S is a minimal generating set.

| . PART-C £t
L. Answer ANY One Question. (1 x8=_8 Marks)

- WLey bea ﬁnite dimensional vector space over a Field F. Let A and B be subspaces of V. Then
4m(4 + B) = dim 4 + dim B — dim(A N B).
1

{.,State'and Prove Fundamental theorem of homomorphism on vector spaces.

sokokok K
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PARTA - (10x1=10 marks)

Answer ALL Questions

1. Choose the correct Answer:

{.Shortcut key to save the document jg —

(a) Ctrl +5 (b) Ctrl +F12 (c) Alt + Shift F 2 (d) Above all
2. Predefined text formats are called as

(a) Design (b) Template (c) Themes (d) Model

3. A blinking starting point of a word document is known as

(a) pointer (b) starter (c) cursor (d) beginner

4. Where can you find the horizontal split bar on MS Word screen?
(a) On the left of horizontal scroll bar - (b) On the right of horizontal scroll bar
(c) On the top of vertical scroll bar (d) On the bottom of vertical scroll bar

5. Borders can be applied to

(a) Cells (b) Paragraph (c) Text (d) All of above
6. Graphics for word processor

(2) Peripheral (b) Clipart (c) Highlight (d) Execute

7. —————— is a key used to delete the wrongly typed character in your text.
(a) Tab (b) Space bar (c) Back space (d) Arrow keys

8. Ctrl + X is used for

(a) Cut (b) Copy (c) Paste (d) Find
9. Which file starts MS Word?

(2) Word.exe (b) MSWord.exe (c) Word2003.exe (d) Winword.exe
10. Portraits and landscape are

(a) page orientation  (b) paper size (c) page layout (d) all of the above
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‘ “mt/’ pARTA N — otal Marks: 75

o er ALL Questions: (10x1=10 marks)

: $

i A

— method cannot be used to solve LPP having more than two variables.

I~ =

| 1 2y, )
2’1'11cinvcrsc of (1 4) Beoesrnnas

3, The cost of surplus variable is........
4‘ An LPP has optimum solution when

!

g foram X1 transportation problem a nondegenerate basic solution has values for the number of varisbles
The other name for least cost method is

“ 6 ..............
2 Ifan assignment is optimum, the number of lines covering all zeros is equal to

wd, The assignment problem is balanced if

g, The time for which the machine has no job to process is——— on machine.
-‘ {0, How many machines are involved in processing 7 jobs through 2 machines?
Part-B(5*5=25)
11 Answer all the Questions.Choosing Either (a) or (b).
11. a. Solve graphically the following L.P.P. Maximize z = 5x, + 7x,

Subjectto x; +x; <4, 3x; + 8x; <24, 10x; +7x, <35andx; >0,x, >0
(OR)

b. Compute all the basic feasible solutions to the L.P.P. Maximize Z = 7x; + 55 subject to %y + 2%+
X3 = 6, 4x1 + 3x2 + Xg4 = 12, X1,X2,X3,X4 = 0.

12.a. Use penality method to solve Maximize z = 3x; + 2x, Subjectto 2x; + x, < 2, 3x; + 4%, > 12 and
) ©20x20
: (OR)

b. Find the dual of Minimize Z = 2x; + 2x, + 4x3 subjectto 2x; + 3%,+5 x3 = 2, 3%, + x5 + 7x3 =3,
X +4x;, + 6x3 <5, x1,x, = 0, x5 is unrestricted.

13. 2. Obtain the initial basic feasible solution using VAM method.

Al B C D Supply
I 3 3 4 1 100
I 4 2 4 2 125
I 1 5 3 2 75
1 8 7
Demand | ' o f 5 | 2

(OR)
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i o5 the correct answer: . er ALL questions.

. [fl;?h » resultant of two forces A o4 and A 0B acting of a point along OA and OB is

9 HmOC ®roc (€)M 0C (& (- )0C

. The magnitude of the resultant of two like parallel forces is their

- (@) Sum | . (®) dlﬂ‘erc?nce (c) product (d) none of these

-, ifpQare two forces acting at a point and if R is the resultant then the condition for equilibrium

| PrQtR=0 b) P+Q-R=0 ¢) P+Q=0 d) R=0
| 4 The coefficient of friction is equal to
" (a) tangent of angle of ‘ffic.tion (b) tangent of friction
| (c)tangent to cone of friction (d) tangent to coefficient of friction
§ 5 The horizontal velocity of a projectile is
| (a) usino (b) ucosa. (c) utano. (d) None of these
{4 ——is the path which the particle describes.
| (2 angle of projection  (b) velocity of projection  (c) trajectory (d) range
{ 7haSHM period is 2n/n and amplitude is a , there its maximum acceleration is
i @ (b) na (c) nd® (d) n*a®
I j,) 8. In the S.H.M. x =acos2t + bsin2¢ , period is
| ox (b) 3 ©n @ w2
9. The (p- r) equation of a parabola is
@p’=ar (b) p=ar () p=ar’ @ p*=ar

- 10.The rate of description of the area traced out by the radius vector joining the particle to a fixed point is
F _ called the ---------

¥ (a) velocity (b) acceleration (c) areal velocity (d)none
PART B — (5 x 5 =25 marks)

{ DAnswer ALL questions, choosing either (a) or (b),

I1.9) State and prove parallelogram of forces. Or
(b) State and prove polygon of forces.

12.(2) State and prove the two trigonometrical theorems. Or
(b) State the laws of friction.

. ((a)ShOW that the path of a projectile is a parabola. Or

B T
gy "Pecfe e range on an inclined plane.

8) Der; :
) Derive the period of oscillation of a simple pendulum.
Or




DON BOS
OSCO COLLEGE OF cn-
MODEL Fxany . LS &SCIENCE,

s 14 ‘ B AN, ' KEY
i ‘o g AP, - FEA T
¥ oy (’:;:;&Nswﬁ; SE “!F"Hi’t 17, AL
‘ "RATIONS RESEARCH

f&.ﬁl . ssrtiaes Wati
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: ‘ ALL questions, B lamnmoais N
el mRSWRT I
e PTLE i Fs ) vodel, Fim) = co
kY »

- $h0t TR ES e Tongest drstion is callede

SN g

e

. THR u&wﬁf% gamne ve

foe a player is a plan which specifies his action for every possible action of bis opponent

3_‘ ,_‘Qn“;w b

T ;wwmm in the pay off matrix corresponding to optimal strategies is called

¢ Preseek worth factor of Re. laftern year is

PART B — (5 x 5 =25 marks)

. Amwe ALL questions, choosing either (a) or (b).
‘ﬂéggymﬁmcmnmbcrofmsmme:sinthcsystcmandinthcqm

repaitman finds that the time spent on his job has an exponential distribution with mean 30

Mzg‘mr@nﬁﬁsﬁsinthcordcrinwhichtheycomcinandifthcarﬁ\-alofsetsisawmml?pum

ﬁ@amagtmﬁof 10 per 8 hour day (i) how many jobs are ahead of the set just brought in? (if) what is the

W?& idle time each day?

Or

BATY

12 (A) The sollowing table gives the activities in a construction project and other relevant information.
12 133 23 24 34 45

Activity:
Duration(days): 20 25 10 12 6 10
{i) Draw the network for the project.
(ii) Find the critical path and the project duration.
(iii)Find the total float for each activity. Or
(B} The utility data for a network is given below. Determine the total, free, independent floats and identify te
Activity Duration
1 2
i-2 8
1-3 10
24 6
25 3
34 3
36 |
A 5
T 2
67 g
Or

- 13.44) Explain the games without saddle point. i G
(B Selve. e Mminﬂ 3@:’0{ wﬁz\fj deminaned . PHOTE W
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Hmagp?wfﬁ x4 }“ te? 44y + Gy
Jmcﬂ!heﬂ sphere Ix® 4 3y® 4 02 w g
satlon of the sphere whose centye 1s(1,2
ﬁ@:ww{ﬂii@' form of x + Sy -

e} 7wy

v A) m\tlfmlma 1
g7 () s Py By ey

PART . (2 \ &
ALL questions, choosing elther (n) or (),
(s R

= IR marka)

: e ; N LI U T
_ of the image of the line == = 215 2o
wwmummns g 3 -8 T3

(OR)

; o lies on the sphere 9(x* + y* + £%) = k2,
| (OR)

3301 "”4’ +F;:2

#4d the equation of the sphere having the circle x* + y# + 22 —
y+2r =5, for a great circle.

(OR)

i secses through the origin.,

PART C-(1x 8 =8)
“Auner the following question, either (a) or (b)

x-a _ y=h o

findthe condition that the line 1

"t sbove line and that the distance between thelr centres Is -5
(OR)

[
} Plane ABC whose equationls
Hnge ABCand obtaln the coordlnates of lts centre and radius.

RECONA INTERN A ,Mi“‘ SRCIENCE, KE}

i the plane 2x -

— om (3.9, - the AL G R LA T
Eg;mpﬂ?e‘?d‘c”‘a' distance from (3,9, =1) to the line = =k,
e of constant radius k passes through the origin and meets the axes in A, B, C. Prove that the cantroid of the

APy

Nubjeet Cade: aning Al
Fotal Maphs: 3%

Iy 422 43=0

' 'mgasses through a fixed point (@, b, ¢) and cuts the axes In A, B, €. Show that the locus of the centre of the
2x+4y =6z47=0,

ndthe equation of the sphere which touches the sphere x2 + y? + 2% — 6x + 2z + 1 = 0, at the point (2,-2,1)

278 \where (% 4 m? 4 n* = 1 should touch the sphere x? + y* +

%t uy 4 2wz + d = 0. Show that there are two sphere threugh the polnts (0,0,0), (2@, 0,0), (0,2b, 0) which
G le? = (a® +b*

L),

—l ’Z + fe 1 meets the axes in AB, C Find the equanon to the circumcircle of
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Answer ALL Questions:

( Fill in the blanks
"}, write a formula for t-test (single mean)
) writea formula for Fiducial limit.
3. Degrees of freedoms for F-test.

4. Null hypothesis of one criterion classification

. PARTB-(3x5=15 marks)
1 .Answer ALL questions, choosing cither (a) or (b).
54). Acertain stimulus administered to each of 10 patients resulted in the increase of blood

pressure 8,8,7,5,4,1,0,0,-1,-1. Can it be concluded that the sti :
the increase in blood pressure? stimulus was responSIbIe(fgr)
r

b) Agroup of 10 rats fed on a diet A and another group of 8 rats fed on a different diet B
«ecorded the following increase in weights in gms.
'DietA | 5 6 8| 1 12 4 3 9 6 10
‘pietB | 2 3 6 8 1 10 2 8 - -
Test whether diet A is superior to B.

¢ a). Two the random samples gave the following results

' Sample Size Sample mean Sum of squares of deviations from the
mean
I 10 15 90
I 12 14 108
Test the whether the samples could have come from the same normal population,test

mean and variance. (Or)
b) A sample of 12 values shows the s.d to be 11.Does this agree with the hypothesis that

the population s.d. is 10, the population being normal?

7.a) For the 2 x 2 contingency table a b
c d

L9, : . 2 _ N(ad—-bc)2 —a+b+c+d. Or
x?is the independence is  X* = T 250, d)(a+b)(c+d) where N=2a (Or)

b) The following table gives the classification of 100 workers according to sex and nature of
f work is independentof the sex of worker.

work. Using x* — test examine whether the nature 0
‘ ature of Skilled Unskilled Total
work e
Male 40 20 B 60
Female 10 30 40
Total 50 _—/___59_’_’_‘__ 100
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.o the correct Answer: LL Questions:

Lo OO&D
' Lhﬂslcn Keller was @ ==s====--
(e

) pumb b) Deaf-blind O A grad
: :‘;\CFOfding to 1'1clcn‘Kcl}cr ______ s the "“0‘ d Tmtc d) Both b & ¢
2] ouch b Heming ¢) Sit\gﬁhgmf“‘ of all senses.
, qarah was &= d) Sight
L ‘:ﬁ Dancet b) Chef in a restaurant ¢) Nurge d)F
) ‘ree-lance typewriter

‘«\Spﬁngtime” is @ -==---
) Story of innocent love with a happy end
o) Ghost of adventure b) tragic love story
d) Thrilling detective story

i
| . _15
1. Answer ALL questions, choosing either (a) or (“‘)l)arks)

5 How does Shakespeare glorify and itimorta 5e his friend? 0
) Give @ critical appreciation of “Mending wall” ' (Or)

69) [msgine that you &1 the Secretary of your College students Union and prepare the MINUTES of the
(Or)

’ ] that you are.the Secretary of your College students Union and prepare the AGENDA
of the inaugural meeting :

7.9) Fill in the bkanks with suitable tense forms

| Nathan ---—-- form asthma since childhood (suffer)

7. When I -------- home my friends ----- for me (reach/wait)

3.] - here until you - (wait/return)
4 Yesterday I------ to Guntur to.meet my uncle (g0)
(Or)

’ 5. My uncle ------- by the morning flight tomorrow (arrive)

. b)Rewrite the following conditional sentences:
| 't be healthy (ifunless)

], ——you eat well, you won :
) e | were you, 1 would resign the post. (if/unless)

3. If he does not stop smoking, he ----=-" (live) long

4. If the rain stopped, W&~ (go) for a walk
51fyou don’t pay the fees, you cannot write the exam

PARTC (1*8=8)

ther (a) or (b).
just for 3 days? (Or)

(rewrite using unless)

. Answer ALL questions; choosing €l
sion if she gained it

3. 2) How would Hellen Keller use her vi
£ O.Henry.

b) Describe “Springtime” asa typical short story O
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er ALL Que
Answe

poose the correct Answer:
Joe=

e the C-R equation in complex form
4 wnte : :
: (2)=Rez is differentiable at ....... ..
" f z)—
write Laplace’s equation

= b is not harmonic or not.
Jfu@y) =x"+yIs

PART B - (3 x 5 = 15 marks)
[ Answer ALL questions, choosing either (a) or (b).
11 .ADS

i ci iti i tiability of a function.
5. a) Denve sufficient condition for Differen ty s
An analytic function f(z) = u + iv with arg f(2) constant is constant function.
b) ‘az 82 that_ai+a_2=4 az
bl T = ayax POVE ax? ' gyz ' ozoz (OR)

L (9% & eyl = 0
bIf f(z) = u + iv is analytic and f(z) # 0 prove that (). (+ ayz) loglf ()]

ii).V2amp f(z) = 0 ) ; b ol v =
1 a)(S)how that w = — the circle given by |z — 3| = 5 is mapped into the otrcle ‘w N 16\ "
£ : b4

(OR)
' der w==
“b) Find the image of the strip 2 < x < 3 under 3
PART C-(1x 8 =8)
Il Answer the following question, either (a) or (b)
V 3 " A » . d 1 n.?
8 ) Derive C-R equations for Differentiablity of a functio (OR)

l | D . S P inates?
b) State and prove C-R equations in polar coordma e
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PARTA - (4 x 1/2 =2 marks) o

Answer ALL Questions:

rrect Answer:

~n00s¢ the €O . .
f i< one in which we start an approximation and move towards 2ccuracy-

LL

; ,f\ 1 I
1 m b).iterative method  c).gauss seidal method

' 3)_d111

h is called as the -
- b)entries c)interval of differencing
o[ linear equations can be solved by one of the below method

{ems
hod b)cramers rule c.)gauss elimination method

on met

h)linear c)identical
PARTB-(3x5=15 marks)

choosing cither (a) or (b)-

ALL questions,

he following system O don meﬁhod

{ 1. Answer :
|5 5)Solvet f equations by gauss Jor

5x-2y+37=] 8
X+7}”32:'22
~ _ OR

3 2\-)/"*'62:22
b) Solve the following by using gauss

x+y+z=6;3x13 y+4z=20:2x+y+32=1 3
OR

elimination method

.a)P.T Am An =Am+n[f(x)] and find A[f(x)2(x)]
{ b)Explain back substitution method
OR

) Explain gauss Jordon method
‘ b) Find the inverse of the matrix
A= 211

323

149
PART C-(1x 8 =8)

sm. Answer the following question, either (a) or (b)
.a) Solve by 2x-+y=3;2x+3y=5 by gavss seidal method.
%) Solve the following by Gauss Jordon method
10x-2y+37=23;2x+10y-5z=-33 3x-4y+107=41

OR
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pJf” ,-atlon.
W/ Part- A(l()*l ]() markg) —_—

o all the Questions
sW

st .

: The Sum of the roots of the equation ax® + bx + ¢ = 0 is
[

c ~h -C

b = c)— =<

% b) 7 ) 2 d) -

By Descartes’s rule of sign, the maximum number of positive roots of x” — 3x* + 2x* —

1sOiS

a) 1
p 3. [fais

o

b) 2 c)3 d) 4

aroot of a reciprocal equation f(x) = 0 , then the another root is

pa B 9% d) =
The method to find approximate values of the irrational roots of f{x) = 0is
a) Newton’s method b) Horner’s method c) (a) and (b) d) None
5. The value of f(1) = 0 for the equation x> —x —3 =01s

a) 0 b) -1 c)3 d)3
6. If an equation has only one variation of sign then it has a
Either negative or positive d) None of these.

a) Negative root b) Positive root c)

7. Cardon's method is used to solve
) a)Linear equation b) Quadratic equation c) Cubic eq

8. If f(~x) = 0 has no change of sign then f(x) =0 has
¢) One positive d) None of these.

uation d) Biquadratic equation

roots.

8)No positive ~ b) No negative

9, . . 1 5 . oy 8
Ifan equation remains unaltered when x is changed into . its reciprocal, then 1L1s called a

n c) Quadratic equation ) None

a) Cub; .
) Cubic equation b) Reciprocal equatio
3 —x+1= 01is

10.Th
® number of negative roots of the equation x5 +x* +x

w4 (b) 3 () 2 (d) 1.
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08¢ :
Cllﬂ ”ud(”m born N s

5 —

" b.Bodh G
odh Gaya ¢. Gujarath . Hihar

R SN
e

I anilavastu
ilavas ;
. a Kap became u Public speaker aller practice,
£ 2 -»-/.munsﬁcld ' b. George Bernard Shaw ¢. M.K. Gandhi d. AJ. Croni
Muhcsh Dattani is an Indian l L - A1 T00IN
5. . Essayis ;
* 4. poet . > [.h?ll)’lit ¢. Dramatist d. Novelist
E Chandan and Tara are __________llwms.
; . b. non identical : .
1dentical . ! ) c. Siemese d. ordinary
) i is the main character in Great Expectations. iy
5 mhﬂm . b. Estella c. Joe d. Pip
@ ¢ Whois the benefactor of Pip?
; b. Ms. Havisham c. Joe d. Jaggers

bel Magwitch
nh is the synonym of Lament.

, 2. Mcr;;" b. Love C. mourn d. beautiful
AN is the antonym of lend.
a. cheat . b borrow c. painful d. fearful
9. You can exchange ideas and opinions with many people in a
a Interview b. Dialogue c. Group Discussion d. Debate
E 10, Appreciating or criticizing a work of art is called as a
_a. Letter b. Journal c. Group Discussion  d. Agenda

: PART B - (5 x 5 =25 marks)
1.Answer ALL questions, choosing either (a) or (b).

I1. (a) Write a short note on “How I Became a Public Speaker” (Or)
(b) Explain the following Passages with reference to the Context
i. But all the same the law cannot become the guardian of our private manners.
i ii. His calm and immutable serenity were constantly replenished by meditation.
- 12.(a) Comment on the plot of Tara (On)
(b) Draw a character sketch of Chandan
(Or)

13.(2) Sketch the character of Estella
(b) Explain the narrative technique of “The Great Expectations”

- 4.(2)i) Choose the word which best expresses the meaning of the word vehement
_ atruthful b. forceful c.examine d. substitute
ii) Choose an alternative word which is the exact opposite of the word

_ afriendly b.Stable . Stationary d. volatile
i) Choose the correct word which expresses the meaning of given expression. Bag of Bones

iv) " 2 bag full of bones b. a person about to die c.a dead person d. an extremely weak person.
Choose the correct phrasal verb.

| I___ newclothes for my birthday.
4. put off b.Putdown c.putacross d.putout

1

hostile.
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Swer A1, Questions

-
.

o the correct Answer:

(b0 i
o rain of any computer system is

‘ i‘r&ma‘oi Unit  (b) Arithmetic Logic Uniy (¢) Central p

.. first electroniC computer in the world wag

] iﬂ"

JUNIVAC () EDVAC  (c) ENIAC (d) None of the above

sichof the following memories needs refreshing?
% SRAM (b)) DRAM () ROM  (d) All of these.

fe— . - . memory is placed between the main memory and the
afsh (D) ROM (c) virtual (d) cache.

. Which of the following is not a input device?

jkevboard  (b) projector  (c) track ball ~ (d) light pen.

is a type of scanning technology that reads magnetized-ink characters printed at the
xsom of checks and converts them to computer- acceptable digital form.

Barcode Reader 4(b) Magnetic-ink character recognition

:)Optical character recognition  (d) Optical mark recognition

rocessing Unit  (d) Storage Unit

CPU to speed up

The language that the computer can understand and execute is called.
imachine language (b system program  (c) application software  (d) all of these.

—is distributed free of charge but requires users to make a contribution later on?
rblic domain software  (b) shareware  (c) freeware  (d) proprietary software.

I;he Operating system manages, all the other programs that run on the PC and provides
Wuchas

g Management (b) Memory management (c) CPU sched
ety as an' interface between the user of the computer system and the underl
S hardware |

qs Yol e v
Ml Software ~ (b) Operating software c)Firmware

uling  (d) All of the above
ying

d)None
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 Answer ALL questions, choone 1 Corroet
he Ineorreat statement from e following Hmmﬁumm i H e
Hli e fi

(m(((?‘. RL] mu'eullmlnhlu V[0, 1] s ¥
@) O3 i uneountihle ‘ T
' : |)mu'lu fpice (M, d : O U 1y (2 (RERTIE
3, In any )(.“ SHpieo CM oy the dinmetor of (e omply ol “. Fincotntabile
(n (h)l A L L T
3, I TCwith sl motele 1ot A =10 Ll Then fof A = (e)m (d)-m
(n){0) (h)y(1 e ;
4, In Jowithosanl metrle every slngleton el Iu’. (erto, (d)(0,1)
(1) closed (b)) open e b
) o i ) i y 4 z
5, The incorreet statement i ..., ) both apen tind elased (hneither open nor closed
(1) Q ls ol second entogory () R It of iecond catogory

(¢ ) b s of second eategory (d)A _
, ny comple . e ks
6. In R with diserote metric. ..., y eomplete motrlc It of second cateyory

(n) Qisunbounded () (0, @) isunbounded (¢ ) every setis bounded  (d )R is unbounded

7, A connected subset of Ry
[ 1, 0) (M Q (¢) Pinite set
) . i e Hi{0}
8, thb of the following is n drctwc got in R with diserete metric?...... @i
(n)R- (O (¢)R=Q (4)7
9, In usunl metric there exists a continuous function from,...... '
@0, fonto(0,1) () (0, onto Q)

W0, Donto[ 0, 11O, 1)onto R

10. Any totally bounded metric space is
(n) Unbounded (b) Scparable (¢) Complete (d) Compact
PART B — (5 X 5 =25 marks)

I1. Answer ALL questions, choosing cither (a) or (b).
(Or)

11. (A) Prove that N x N is countable.

(B) Prove that every open ball is open.
convergent sequence is also a Cauchy sequence.

12. (A) Define a Cauchy sequence, Prove that every
' (Or)
) = where diam (A) denotes the

(B) Prove that for any subset A of a metric space diam (A) diam (A
diameter of A.
o continuous.

13.(A) Iff: M; =M and g : Ma —Ms are continuous then show that g o f: M —Msis als
: Or :
(On) a, b] at which fis

(B) Let f: R — [a,b] bea monotonic function. Prove that set of points of {
LY discontinuous is countable. i metion |
- 14.(A) A metric space M is connected iff there does not exist a continuous function f from M onto
the discrete metric space { 0,1} | ‘ |
: | ¥ Or | ‘ ‘
(05) th more than one po

metric spacc wi int is disconnected.

~ (B) Define a connected space. Prove that any discret
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PARTA - (10 2 1 = 10 mariks)
Answer ALL Ouestiona:
e the correct Answer:

ch
Il-' ﬁe erm pefsonality derived from the . word “Persorz’
2) Latin b) English ¢y American &) Greeke
2 ¢nowing yourself is known as
2) gelf-awareness b) Self-Monitoring ¢y SelfMotmatinn &} Conzl wETE
) 1. srengths and are the internal factors of SWOT znzlysis.

 g) Weakn©sS b) Opportunities  ¢) Threzts ) ALES 2o

g voices Of seeing visions which arc not real is

4. Hearin
a) Hallucination b) [llusion c) Perception &y Emotion
5. gelf-monitoring means observing ones o evelnating
a) Mind b) Behavior c) Gozl d) None ofiese
6. Which skill is acquired from educational mstinzions?
a) Soft skill b) Managerial skill c) Hzrd skill &) Leadersio =8 =
7. Which acts as an energizing factor in communicztion”
a) Sender b) Receiver ¢) Decoding d) Feasdback
J 8. Symptoms of stress
a) Memory loss b) Loneliness ¢) High blood press=T &) All S 2T
9. Table manners iS "
a) Set of meals b) Set of ules ¢) Set of bebavIos &) S el WS
10. Group discussion is donewith persons
d) Three

b) One b)Two  ©) Eightor 1¢8
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A Part— A0
nswer all the Questions

i

n the blanks:-
472Y%=12

L. Fill'i
|. Aninner product space is called a Eucl; 8 . &
qumbers. uclidean Space, if Fis the fieldof

2. xis called a unit vector if

i igen va : i » ;
3. 2isthe eig lue for a matrix A. Then what is the cigen value for a matrix

A4__,,____._——-—-—'
4. The general form of a Characteristic equation of A ‘i%

Part—-B

swer the following;-
II. Answe 25 3725=15

|. Define Rank and Nullity. State and prove Rank and Nullity Theorem.
OR 2

5. Let V be a finite dimensional inner product spacéli‘Let W be a subspace of V, then (WH)* =
w S
| v 8 =6 2
3. Find the characteristic equation of th following matrixA ={ =6 7 —4«).
b 2 -4 3

OR

4. If » is a characteristic root of A then f(») is a Characteristic root of the matrix f(A) where (%)

is any polynomial.

5. State and prove Cayle¥y Hamilton Theorem.
OR

6. State and prove Schwartz’s inequality.

1%8=8

111, Answer the following
ter product space has an orthonormal basis.

1. Every finite dimensional in1
" OR
1

153
vectors of the following matrix.A = (1 5 1),
n 14

)

2. Find the eigen values and eigen
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Antiwey
(\mm&u‘”“.‘ correet Answors W ALL Questions:

Hve students are ranke

‘ ‘\1 \{\\ A“Imlxl;\l | nn"mnlul;l N (wi) subjects og follows
' | . | |

hen the rank correlation coelficien D

Woe (h)0.2 ()0 ()]

oy = 20y = hand yyy = 120 then Vi i

) (V7 @7 (d)/3

Uy 00 Thena frequency disteibution has ..,

m)\‘oshi\*c skewness  (b)Nepative skewnens

(©Positive and nepative skowness  (d) neither positive nor negative skewness

Llor aeurve curvefty = 30 Such aeurve is known as

messokurtic (hplatykutic (¢)lepokurtic (dynone

PART B« (3 x 5= 15 marks)
I Answer ALL questions, choosing, cither (n) or (b).

5, (A) 'The first four moments ol n distribution about % = 2 are 1,2.5,5.5 and 16.
Calenlate the Tour moments (i) about the mean ( i ) about zero,

(Or)
~ (B)lita straight line to the (ollowing data, R S
x| 0 l B I B
oy 2 3.5 54 | 73 | 82 |

6. (A) Fit a straight line to the following data and estimate the value of y corresponding 1o
X = 6. )

i 0 5 10 |15 Z‘J_;,/_L_:;"iﬁ
y 12 15 17 22 24 30
(Or)

(B) Prove that the correlation coelficient s independent of the change of origin znd

seale,

T.(A) Prove that rank correlation p is given by p°
(Or) )

¢ (wo regression lincs show that9=1-7 -

N 6n(x-y ) I nln’-1)

(B) 110 s the acute angle hetween (h
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PART - A (4% % =12) §: 28

< (he best ANSwer:-

n the Firstorder reaction the positive cons

ant k is called
a. const. b. rate constant i
¢. hirst order constant.

Torricelli’s law

1 p = 7 ’ - : gh
g,V =2 Cgh‘ . b.v ‘ c+/2gh c.v=1»006 \/th.
prom the principle of conservation of energy,Kinetic Fnergy + Potential
Energy = .

a. v b.- 0 ¢. constant.
Who gave the solution for Brachistrochrone problem
a. Galileo b. Brachistrochrone  ¢. Bernoulli. B

Part-B (3 x5=15)

[ Answer the following:-

.

L Answer the following:-

1.
2.

Ifin a culture of yeast, the active doubles itself in three hours, by what ratio
will it increase in 15 hours, on the assumption that the quantity increases at
a rate proportional to itself? (OR)

_ A moth ball whose radius was originally ¥ cm is found to have a radius 1/8

cm after one month. Assuming that it evaporates at a rate proportional to its
surface, find the radius as a function of time. After what time will it
disappear altogether?

A particle moving in a straight line is subject to a resistance which
produces the retardation kv3, where v is the velocity and £ is a constant.

Show that v and ¢ are given interms of s by the equations v = 1+l;<su't =

i + %ks2 where u is the initial velocity. (OR)
Derive the equation for Free fall under gravity.
A particle of mass m is acted on by a forceF (x) = 2mx(x? + a*). At what
time 1 = 0 the particle is at x = @ moving with velocity u = 2a? away from
the origin. Find the position and velocity of the particle at any subsequent
time. How long will it take the particle to move off to infinity? (OR)
Derive the equation for retarded fall.
Part—B (1 x8=8)
State and prove Second order reaction. (OR)
State and prove Brachistrochrone Problem.
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: answe
 Choose the correct :u wer 1
r ) Some innocents have not the understangi i
' Lo 3 - g to fathom the
a) Eatables b) mans | .
( : ( ) Wips (C) books ((]) time tahlos

(10 x1=10 marks)

Baldeo's family had small ficlds,

(a) rice (b) millet -
1d check soil e s N (C.) \:Om (d) maize
3 (;;?’l;anta:iegn SOt ‘ms(‘t(:)“ d““;fi conserve the rainfall of the country.
clorestation () rain (d) industries
4. After hours the poison lost its sting,
(a) 10 (b) 12 ¢) 20
5. Because of the stormy wind, the snow rises up like () a3
) i (8) Rain () cyclone T (¢) smoke d) fire
6. You should dreapl but your dream should not cloud your @
(a) emotion (b) reason (¢) night (d) rain
7. Trepidation in the context used by the poet refers to .
(a) fear (b) trembling motion (c) anxiety (d) concern
8. Prince Dimitriisaboyof
(a) 17 (b) 16 (© 18 (d) 20
9, Aunt Jane gave as wedding gifts to Jack and Jill.
(a) 20 Pounds (b) 20000 pounds  (c) 200 pounds  (d) 200 dollars
10. The scene of the play, ‘The Death Trap® takes placeat__ .
(a) 8 0’ clock (b) 12 o’ clock (c) 100’ clock  (d) 9 o’ clock
PART -B

(§ X 5§ =25 marks)
(OR)

Answer ALL questions, choosing either (a) or (b)

11. A) Write critical appraisal of the prose The Tiger in the Tunnel.
B) How one can escape from intellectual rubbish?
12. A) A) List out the qualities for a man in “If".

B) Enlist the symbols used in “Valediction Forbidden Mourning”.

(OR)

A) What was the demand of Wasserkopf? Why? (OR)

B) Explain the lifestyle of Jack and Jill.

14. A) Rewrite into passive voice.
i) Please give me your pen
i) They painted the building white.
iii) Iniya gives four note books to Meena
v) The Students are playing tennis on the ground. (OR)
¥) Who washed the clothes?

-2
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¢ the correct answer
s Cl:\OOOSOd index number is one that satisfieg (10x1=19 marks)
(a).UniF - (b)f:(i“CUlar et (©) Time-reyersa test d
) The arithmetic m,ean 0 apebyres and }’aasche‘ S indey s Inde( ). Allbof these
2 (a),Bovyley s ; (b).Kelley’s P ():1 m;jin -
Type | error 1S committe “g‘)‘;n the hypothesis trye but our test. it ).Marshall
(a).rejects .accepts seee AL
4 The standard error of the number of successes= (©).(a) or (b) (d). None of these

(a).npq. (b).pa/n (c)./7pq @, J,,—_q
”Thc 95% confidence limits for the population mean are "
B &

(ﬂ)f i-ﬁ t0.05 (b)’ x :t mto.os (C) X+ _\/SE t0'05

(| gave the t-test.

(d).x + \/é to.os

(a).Fisher . '(!J?.Pc.arson. (c).Gossett (d). Paashe
7. The total number of possibilities in which arrangements can be made in 3 % 3 Latin square are...
| (a).6 .. 9 o (@12 (d).22
8, The total number of d.f in two-way classification mode] is...(c-no.of coloumns, r-no.of rows)
(a).(c-1)(r-1) (b).cr-1 (c).cr-2 (d).c+r-2
* 9. In a control chart the upper control limit can be. ..
, (a).negative (b).always positive  (c).always zero (d).none of these
| 10. UCL for R-chart is.....
(a).D4R (b). D3R (c). A4R (). A,R
; PART - B
- Answer ALL questions, choosing either (a) or (b) (5 X 5 =25 marks)
(, 11 Construct Paache's index number from the following data :
¥ Commodotitics Po Qo Py Qi
A 6 50 10 56
B 2 100 2 120
C 4 60 6 60
D 10 30 12 24 (OR)
- b. State time reversal test and show that Lespeyre’s method and.Paasche’s method dot_:s not sa.tisfy the test.
%2240 heads were obtained in tossing a coin 400 times. Does this appear to be on unbiased coin? (OR)
: ; A b Explain about (i). hypothesis (ii). Test (iii). Level of significance (iv). Critical region
,\:a. Test the equality of s.ds for the data given: n; = 10,n, = 14,5, = 1.5,5, = 1.2 (OR)
* 0. Test the hypgthegis that ¢ = 10 given that s=1 5 for a random sample of size 50 from a normal
., Population
| i E;{ﬂm“ the ‘ANOVA table for one \\tay f:lassiﬁcation:. K . (OR)
215, Whm . L‘m_“ square? Point out its SIgnlﬁcanf:e and -hrmtam.)ns?. ' -
~, '@is Statistical quality control? Point out its merits and limitations.

~ *plain the construction of mean(X) chart.
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PART - A
the correct answer
Choos¢ (10x1=10 marks)

I EIeCUic Current is

er unit
‘ (a) current per unit length (b) current across unit area

| t per unit v
| (c) current p olume (d) charge across any sectional area

}' 5. The color band starting from near one end of carbon resistor is brown, black, red, gold. The
%ﬁ resistance s ‘
a (a)1000+.50 ohm (b) 1000+ 100 ohm (c) 102+.50 ohm (d) 1000+ 100 ohm
3. Zenor diode is operated in ‘
(a) forward bias (b) reverse bias (c) both (a) and (b)  (d) none of the above
4 The binary numbers 1011 and 1101 are added. The result is
(a) 11001 (b) 10001 (c) 11000 (d) 1000

5. The I-V graph of a crystal diode is

(a) linear : (b) non-linear (c) circle (d) ellipse

( 6.The magnetic dipole moment of a nucleus is due to

E (a) spin (b) charge (c) both spin and charge (d) neutrons
b 7. The half life period is
| (@)Ny/A (b) (decay constant)™ (c) none of the above (d) 0.69/A
'_ 8 The mass defect of 1 a.m.u. corresponds to energy
@10Mev  (b) 93 Mev (c) 9.3 X 10° Mev (d) 931 Mev
5. The disintegration of a radioactive substance is
(a) linear (b) exponential (c) constant (d) none of the above.

10, Riv 4
Bmdmg €nergy of a nucleus is due to
@) coulomb force  (b) surface tension  (c) both () and (b)  (d) mass defect
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(Answer all questiong)
Mx1=1g

the resultant force ig Je. ot i
0 €45t then the angle betveen the tys, forees P and OvAllh
iy g ] ,3

) 0 b) .
2 ot )2

. The magnitude of the resultang ¢ - djn ;
gL b) diffcrcnr:;e of v lnkz{ ‘parvallcl forces way theiy R .
3. If three forces acting at a point 4r¢ iy, cq”;’l)’tf{c’dum | d) quotiont =
the angle between the other tyr, Ibrium then each fores iy proportional o ¢
a) cosine ‘ b) sine ¢) tan p
4. Thc coefficient of friction of vood on vood(dry) is ) sec
a) 0.04“10 0.2 b)0.15t 0.3 ¢) 025 005 403
5. The horizontal velocity of projectile i5 o
a) usina b) u cosg " 0) utang ) use
) usecy
6. The greatest distance of the projectile from an inclined plane is
u?sin®(a+g) b) u2sin?(a-g) ) P etnPe § P
2gcosp 2gcosp 2gc0: Zgsing
7. The amplitude of SHM 4v?=25.5 is i ok
a)25 b) 10 c) 5 dy15
8. The length of seconds pendulum is
gt  bgn ©) g2n d) g
9. If the radial velocity is proportional to transverse velocity then the pathis
a) ellipse b) hyperbola ¢) parabola d) equiangular spiral
10, Pedal equation of hyperbola is
i Zz 2 4
a)i;=£-—1 b)%::gf-i-l ¢) p=ar d) p=ar
Part—B
" IL  (Answer all questions) Sx35=25
(OR)

11. 2} State and prove converse of the triangle law of force.

b) P and Q are two like parallel forces. If Q is moved parallel to itself through
 adistance x, prove that the resultant of P and Q moves through a distance
P ‘ | i
1 £ i re in equilibri ove that they must be co
, 12. a) Ifthree forces acting on a rigid body are in equilibrium then pr s
planar,

- b) Discuss equilibrium of a particle on 2 rough inclined plane.
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PART - A

ose the correct Answer:
e Sx1=5 Marks)

1. Clairaut’s form o
@y=f@+px B y=Fp)-px ©@y=FfCp+px Dy=—fp)+px

2. 222= (@D (b) DD-2)y (©D(D-1)y (@ DD-1)%
3 u= (aia)X then

@u=x"% [ x*+Hixgy () u =x"% [ x~**1xqx

() u=x*[x*+1xdx @u=x*[x"*"1Xdx
4. x2%+ 3x%+)’=x CFis

(a) e"?(4 + B2) (b) e™*(A — Bz)

©) i (A + Blogx) (@ 7 (4 - Blogx)

5282y 4x% + 2y=x .CF is
(a) Ax~! + Bx~2
(c) Ax3 + Bx™*

() Ax~2 + Bx~2
(d) Ax™ 1+ Bx73

PART - B

Answer Any Three Questions
GSolvexzd—zy-+3xg+y= z
' dx? dx (1-x)?

(3 x 4 =12 Marks)

2 d _
7Solve (5 +2x)% 2% — 6(5 + 2x) L + 8y = 6x
8-301V€y=(x—-a)p—p2 ‘ L
9. Solve (px — y) (py + x) = 2p (hint x> =X, y* =7Y)

PARTEC (1 x 8 = 8 Marks)

Answer Any One Question. }
10 da’y , . _dy 3x)y = 8(cos>x)
0. Solve cosx o2 T sinx -+ 4(cos ,
dy 2yy = 3x
. Solve (1 +x2)3 % + 2x(1+ xz)ZZx—+ 1+x )y
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PART - A
noese fhe COTTECt iunitheh (5 x 1 =5 Marks)
e ¥* distribution 35 used to test the population ...
@varian&- (?D)mean (c)median (d)mode
. ‘iﬁ}fz tost, BIWEYS expenmental frequency.....
@=3 ®)>> (©L5 (d) <5
o EESL U= < for 6 observations v = 6 for 5 observations then degrees of
sroadom B8 |
@55 ®)6:3) ©6 @5
o the TWO attribuiss A and B the

(230 (b)20 (c)40 (d)60
<in oneway classification we ¢20 apply ... test

@F ®)x° ©t (d) None

PART- B
WM‘XWQHMOM (3x4=12 Marks)
5. Inasample o 8 observations the sum of squared deviations of items from the
meam wes 94.5. In anotheT sample of 10 observations the value Was found to be
ignificant.

1017, Test whether the difference is sig

< Test frc hypofhesis 4t =8 given s = 10 fora random sample of size 51.

e AT ~2 Z eti
R Prove fimt g2 = Z;: 1&_____— i—20) —Zf_l o _ o where there ar¢ k set of theor ical
e Lai= 2: == eq

a0l diserved veluss with the total frequency
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fign: 1hour , Session: AN
five Do g
(Boose the correct Answer: PART - A
' . B - (5x1=5Marks)

; RS EEEE g—-i 3‘@5 s2ddle poim

(=¥1,1} ®j (1.,2) N

i g ) =, C Q_ i | =5
-+ 3 gzme ViD= = L ©&h (4122
- (i i G'{-&C

) pr—— ®) C—B—rig (c} Eid (dy==8<

- A % R 4 G=b—ctd . ——

s Forzzero ST gEmS Lemmberoliplayesis

= R Cynone of these
_g@gﬁﬁéﬁﬂﬁ;@&p@?ﬂﬁsmﬂké ’ °f

() =g ¥ eoststiioe (c) optimal (&) mome of these
fmv&é the gzme [_2 SZ]

) 11f12 (b) 1211 ©11/5 (@ 5/11

| PART- B
szswer Any Three Questions (3 x4=12 Marks)
- - e - , 8 6

‘ s B; B: BiB:
i&@em&@mgmmgmcdmaﬁm Z 1 0-2)
A ; 1 0 32
2 Mmmmamﬂlmﬁaab@mgf&ﬂmmmémgmewmgme for delivery trucks to be
= L DE 23 ¥ LT= ) :

cade: ’ﬁ:ﬁMmmem.zzﬁwaImfazmksa‘theloadmgdccksxs’lpexhom.'i“ne
P iszﬁmi;masﬁnd(i)theexpectednumberofmksimhes;ﬁstﬁm@)the

T-C
oy (1 x 8 =8 Marks)

‘ . Answer Any One Question. 13
b g " . - Al3 5 -3)
1. Solve the following game using LPP methed C 2 -2
- 20 minutes but the service tme

1. Efor 2 period of s howss ran & aﬁeﬁm vear is empty.(i) average numoer ot
e s rerind ‘ shiiy W= - s Traited 10 4 IC oniy.
the probebility that eme vear is limited to 4 trains ool

mtﬁ@ﬁﬁe cepact -'E" of

< 36 minutes, then calculate
in the system, oR




i pON BOSCO COLLEGE
LLGE OF 4 7L )
. . MWEARTS AND BCHENCE, KEFLA KHAL
A i‘P F AL ’
ARTMENT OF MATHEMATICS
111 B.Se(Maths)
-2018 Sixth S id it o] {
‘ emester =11 CIA Hegsion: V1
Time* 1hr Graph Theory- GMMAG4 Marks: 25
? Part - A (Answer all qu estions) “ng:%
[ ot =
2) Hamiltonian b) Eulerian ¢) non-hamiltonian d) block
), Any graph without cycle is
2) complete b) block ¢) tree d) none
3, IfG is planar then every subgraph of G s
, ': a) planar b) non-planar ¢) tree d) none
i ¢ 1) = ——
2) 1 b) 2 ¢) 0 d)3
| se——
: n(n-1) n(p—2) n(p-1) plp=2)
) p-1 b) n-2 ©). n-1 d) n-2
Part-B (Answer three questions) 3x4=12
6. Prove that C(G)is well defined
ﬁ_fi"’ 7. Prove that if G is a tree then every two points of G are joined by unigue path-
8. State and prove Euler’s polyhedron formula for planarity
1 9. If G is uniquely o~ colorable then Prove that 5@G) 211
| part-C (Answer any one) 1x8=8
10, State and prove dirac’s theorem-
11. State and prove five colour theorem:

a‘,.étmb‘-?-"»‘&—.’u'f«.—‘»u;-m..»ny A
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011117 aSSical Aigebra

1 D_"ti I’)uraﬁon: 3.00 Hour

i 1e \"““‘**'“‘-—~—»~~-H:.r_‘ltﬂli\ﬁgf}is: 75

Part . 5

serall the Questions

| Tﬁe sum of the roots of the equation g2 +bhx+c=0j
| = 1S
b c J
b _b
a) a b) a ¢ a d) -
a

(£ is a oot of aRE f(x) =0, then the another root is

1

de b o O

ffixF0isa RE of first type and odd degree then--——- is a factor of f(x)
a)x+1 b)x-1 Ox?—1 dx®+1

4. If the leading coefficient is positive then f ()

(PR}

a)t+ve b)-ve c) +ve or-ve

Descartes’s rule of sign, the maximum number of positive roots of x” — 3x* + 2x3 —1=0is

Ly
v

@1 (b)2 (c)3 (d) 4
6. If an equation has only one variation of sign then it has a
b) Positive root

a) Negative root
¢) Either negative or positive ~d) None of these.
7. If aisaroot of f(x) =0 then — « is a root of
.’ a)f(-x)=0 b)f(x)=0 Of(x?)=0  df(x*)=0
8. Ifuisa first approximation of a real root of (x)=0 then « can be approximated fo
' (@) f(@)

_f@ b)a-{-—f—(g)- C)(l"‘f(a) d)a+7(_€3

'@ '@
*- The number of negative roots of the equation x®+x*+x° —x+1=00s
@) 4 ()3 ©2 A
0 Cardon's method is used to solve -~
9) Linear equation b) Quadratic equation
9 Cubic equation d) Biquadratic equation

rmula

a)a
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VECTOD : " Xamingtic
TOR CALCULUS atiog
PART - A Total Marks: 75
nSwWers
¢ rrect Ansr" . (16 x 1 =10Marks;
= T-uk then 21 B H1arKs)
D (A.B).........
b.Zt%H ¢.1-4u a1
conal, £ # B 18w -
b,Solengidal ¢ harmonic dsctstions]
+(x y)j — azk is solenoidal, then the value of g is.......
c.5 d.6
i otor normal to curved surface of the cylinder 2 +y?=4,z=0amdz=35......
(T S x+y] el dNone
TS =5 o
5 ¢ #.d7 slongany closed curve is.......--
L Val(;w 0 IC b2T c.—T d.m
L a 2 = = B iS.ccunecnrr
L . of the transformations X = rcost,y =T1C0S
r 1,“‘0 Ja::‘s);flg b.rcose c.T d:TZ
£V is the volume of the region enclosed by the surface s, then ff, 7 ds:"',' """"""""
o b2V e3V s
a . e
i _ = 01is
g The arca of the ellipse X = abc‘);gz’ y = bsin ¢c.ab d. (@ +b%)
. a.ma : <3n S
ntsthe— of the region - N
10.{f da;‘cge :eprese b Surface area cVolume  dNom
PART- B (st_—:ZSMarkS)
Answer ALL Quesﬁons , Ty g 5
11,a1f7 and ¥ are two vectors, Prove that 7; @x ) =40 T
(Or) 3
- 2.7
b.Find §if V ¢ is (6xy + 22D ¥ (3¢ = 2 ; Sf:;.) = )(n +3)r™
2.0.107 = x T+ y] 42k and | # 1=, then shO% thet s
(Or) fr) = @ . p where
Lif V2 0 = 0, then r

, s w tha
b Show that v2 ey = £ @+ 217 @+ M e

6.and B are arbitrary constants:
Bl d = 20yt + ()] + xzk and i

2 =2X,2%

£S is the arc of the parabola ¥

_ Q ' 0 (1/2,1,0) evaluate [ A . ds
(Or)
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Total Marks: 75

PART - A
(10 1 = 10 marks)

(c) (PVQVR (d) none of these

5 pvP (b) PVP (c)7PVP @3
@?P
is equ'walent to
3. (Pf\'] P)VQ (b)P (C) (PVQ) (d) 1 PV Q
- @Q
d) none
E 4 AR 7 BX® < v+ BX) ©1 A®X) VB(X) (
B ®AMYI
@ A"
4(x) = AO) S )
The name of (3%) x) e L )
: (@)UusS
B(x)
i ARX) (c) B®) OR
®
; ()1 A% |
: UB {ab} 18
g 7.If in a lattice L, {a b} c L, then L - o b
3 N nding lattice 1S
‘ i the number of elements in the correspo "
g.IfSisa singleto§ set, then . " (x )
form X &1 * X2
| % lean algebra, the value of the Boolean 10 -
9. In a two element boO :
@ (b) %2 * 2 ©
a) X
% d)non€
10. (atb)@(a*b)__ (c)a (
(b) a*b

(@) b
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w

(o) Smepsor (21) &1evir @urfl %) AguehFapson

E UGS — <
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Semester - |} Cla
Wiroduction O Computey
Sesslon: ¥N
L - ‘\‘g\n\ !ih\‘h\ 28
PARY . A e
Ct ANSWE {5 %15 § Marks)
powt as brain of the compuyey.
W RO (&) Matherboard (d) Nane
e used 1o plug and play hardware inter
k- (b) USB (©) serial (d) SCSI
o to back up one level in a multilevel environment,
(®) CTRL (© ALT o

¢ used to dese be the special numbers and symbols you typieally see at the bottom of |
(b) OMR (¢) smart card (d) none of these
| g vice that draws images on papet using ink pens ot pencils.

dev d) Thermal
o ) kot (c) Laser ()

)
‘Number system
‘S fumerion
kg oo PART - C (e sharks]
inside the cOmPUEE |

ain its PSS e
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PART . A Total Marks: 25
-

o tl“.
o0%° _
Cho™. 1 values of A are 1,3, then the sum of eigen vales of 43 is (5x 1 =5 Marks)

s €1
e (b).135

(“)‘153 +<tic roots of a Hermiti ():531 - (@315

The characlcn lStl(-I I ermitian matrix are all. .... '

2‘ o) purely imaginary - (?).Zero (¢). real
1 The €1ge™ values of the identity matrix of order 2x2 is )N
’ (0)1,0 m ,

(@ ’ . (c) Ll (d).does not exist
glfthe Jimensions of the domain and range are 2 and 3 respectively then dimension of i;;s
mMﬁXiS

a3 (b):3%2 : ():2X2 (d):3%3

" - -3 =3\,
5 The product ol the eigenvalus of (_2 4 ) is....
(0)-6 (b).6 | (@0 (d).-12
PART - B

(3x4= 12 Marks)

Answer Any Three Questions

- 1 21
- V3(R) determined by the matrix ( 0 1 1)

formation T:V3 (R)
-1 3 4

6. Find the linear trans

4

with respect to the standard basis {e1, €2, es}-
e linear transformation T: Va(R) = V2 (R) given by

7.Obtain the matrices for th
a) With respect o {(1,0, ~1), (1,1,1), (1,0,0)} as basis for V3(R)

T(a,b,c) = (a +b,2c—
and {(0,1), (1,0)} for V,(R).

§ State and prove Cayley Hamilton theorem-
6 -2 2 o
9. The product of two eigen values of the matrix A=| —2 3 —1) i< 16. Find the third eigen
' | 2 -1 3
value. What is the sum of eigen values of A-
PART -C _ .
Answer ANY One Question. \ Lo -2 (1x8= 8 Marks)
» | . d (A7 (A"

2 -2 2
f1he malrix A=<1 1 1 )
1- 3 -1

s koAl K

i :
ind the eigen values and eigen vectors 0
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er all questions Time: 19, /1

ansW

- _hles deviate in .
y |fthetW° variabl the same direction the corre
1 relation js

JUS—-

inverse or negative
irect or positive
elation is perfect and negative

a)
b) perfect

= the coff d) none of these

w

If
. (oe]
, The two iines Of reBression are . ...... a1
; a) Zero  b)perpendicular —
. . . <pparalle
4. 0ut of the twO lines of regression given by X +2y—5=0and 2 d) none of these
regression line of xon y? X+3y—8=0which oneithe
5% +3y-8=0b)2x-3y+8=0  ¢)x+2y-5=0 d
¢ fvaluate A3[(1-ax)(1 —bx)(1=cx)] )x-2y+8=0
a) abc H-6abc ¢) —abc i Eah
6 ACE coovensee e e c
a) O b) A° 8 _ &
' =5 . E ¢) TA®E @ynone of these
_Newton's backward interpolation formula is used when interpolation is required near
the weeessssers of the table
a) Beginning b) middle &7 end d) average
the givenrangis Called

8. The process of computing the value of @ function .o

extrapolation
near the middle of d)at the average of

—Qutside b) inside c)
e Class frequencies .

e Claes frequencies (aB) , (AB), (ABY), (aBC) S o
a) Negative l:‘) contrary c) positive d) none of these
classes

10. The classes of highest order are called .o
W) altimate

a) Negative b) positive

 PARTB—(5X5=25)
Answer all questions choosing el
1La) y,, = nExyi—EXi LYl
[anf—():xi)ZP/z [nzyf—(Zyi)
lation of marks
S
ly taken

ther (a) or (b)
(©o%or)

b .
) p?n The coefficient of rank corre
: Ob\t,SI'cs was found to be 0.8. it was |atter di
ained by one of the students Was wrong
CorfelatiOn.

Gl




oARTES X S('IPLN("l';. KERLA ER \i.
. Inlvrmll‘ I ‘
(‘mlc:(}N?\lf\.} . Gratistical methods

3 n!
ating polynamial .

n g&'(x’) {5 called interpol

RN
A ;\Tm\ -I L { deg"ge n the
2 i z;"U»}I" | ) polynonﬂal
L gequat® 4y variable
o conslnnl )
ction olat? h) can be WritEEIL @S oo
, 71owsalt '
Yl P 3
a) Ua*. nh b) Ua.—é—'xh
aUop g et

SECTION-B

cither A or B2x5= 10

uestionsChoose

r differences for () U = ab®* _ ZéL
(OR)

gwer the

3 4) find first and second orde
Fyval of differencing as h.

1sus population of o town for the years 1931-197

ar 1965, (ii) for the yeur 1933 by using an appropriate

S = e taking f
] = - aking e
x T P e7xri2 S

| by find the missing figures in the

ollowing table

/AP ” .
a1 The following lable gives the cet

dimate the population (1) for the ye
Caterpolation formula.

A v:ar \ 1931 \ 1941
/, opulation in 36
27 lakhg \ .

(OR) ey
i ‘ hy If )
e — 24 3 i — - ‘ ‘ ]
[ k rivae :
TN the all the guesti SECTION=C
questions ,Choose either A or B 1 X 8§=8 [

1 ) %
’[d proy = ;
& Pinilaie
undamental theorem for inite differences. (OR)

b) St

state and pro ;

] ve New Cirevor S PN T % A 1Or et
e ewion =Gregory Interpolating tnrmulqllnr equal

\T\I\,
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Marks : 75
qers 3l questions:
AN
The gradient of the tangent
1 Y X, ¥) to the Curve
< 03 Y=f(x)is ...
)fo ...........
dx
dx 8
c) 5 d)%

;. Find the angle which the tangent at (2,4) to tne ¢
Vey=6+x-x? makes with the x — axis

160°34/ b) 165°3g
¢)160°33' 81753
3. The equation of the envelope is
o) B = 8C b)B= 2(Acy’

\C)H/z 4AC d)B= 2(Ac)’

4. The radius of curvature at any point of the cycloid x = a( 6+ sin g)andy=a(1-cos 0)is

6
a) 4a sing- b) 3a cos
o b/ 0
C)4a Sin '2' oF Aa COS 3
5.The (p—T) equation of the cardiodr=2 (1- 0SB ) 1S wersrnrnres
. 3 rz b =£_?:
= Za a
gh: P 2a
2_L2
3-L d) T T 2a
C) & 2a

: . 202 = c2(* T y?) are the sides Of @
6. The asymptotes of x2y*= ¢

] b) infinite \A‘—J
a). Zero )
.Wre $

¢) nonzero
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Choose the oy i s Total Marks:
.y correct Answer: PART - A arks: 25
) B2 is a measure of '

(a) Dispersion b) S (10 x 1=10) Marks)
2) Number of normal equati (b) Symmetry (¢) Kurtosi

(a) 1 ions 1o it a straight line by th urtosis (dy None of them
3) by =(4/5),b 2 ¥ the method of st suetes

5 =( - \C )

(a)-0 yx= (=97 10) then the correlati ). = ()4

oo 6 )4 06 rrelation co-efficient is........
oint of intersecti b : (c)+0.36 '

W in Os)ectlon of the regression lines is ) (@)-036

x ’ (b) (0,
5) Yule’s co-efficient of associat?lo(n le i datie

it of misouatlon = cu..oifipruserines
- (a) /(0 —y°) O Q1+ ¥)  (©Ea=-y @ 0 ¥
YIFQ =0, thereis .....oovvvvniieins association ) b
. (a) Positive (b) Negative (c)No (d) Least
) In Poisson distribution, .= 1 then P(X= 0)= cevrevenens

(a)e (b) e” @© e’ (dy &
8)n= 350, P=(1/ 1400), then A = coovnverneemesmeeser

(a) Vo (b) Y ©) % @ 1
9) M.G.F of the Gamma distribution is «.ooeeeerereeee

@ (1+07" ® (1" ©(1+0" () (1-9"
10) Mean = Median for....omsreeseseze distribution

(a) Poisson (b) Binomial (c) Normal (d) None of these

PART- B
Answer ALL questions, choosing either (a) or (b)

median , mode of the distribution ¢ 481,3.88,4.95 Find the coefficient of

(5%5=25 marks)

1) @ The mean, ek
skewness-
(b) Fita for the following data
(OR
12) (@ Show that : e OR)
Explain prope es of regresst 5 2

13) ((21)) Calr::ulate Yule’ co-efficient (AB) = 6, (AB)=4 (aP) g 8, (af)=3- o

(b) Define co-efficient of association What are its properties ‘ R

t«zﬁ" ® Y“'j 1‘\ ‘npé«\ ﬂ}'

7162015

o
arks: 73
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Internal Assessment Test-1

CALCULUS
| B.Se(Maths) Date:27.08.2015

i_(n__:‘ Hrs | M ‘w“k

‘er all the Questions.
Part-A(4*0.5=2 marks)
1atis the direction of the tangent at (2, 1) 1o the curve X + ¥3 = 97 e oo o

iesubtangent to the curve y=a'is

-------------

-----------------

ds
md-d—g for r=a(1+cos®)

[ r=a® then subnormal is

||||||||||||||||

swer all the Questions. Choosing, Either (a) or (b)
Part-B (3*5=15)

. . 2 2
(a).Find the equation of the tangent to the ellipse -E; + :’Vb—z =1 at (x;,1) (OR)

(b). Find the points in the curve y = x* — 6x3 + 13x% — 10x + 5 where the tangents are
arallel to y = 2x and prove that two of these points have the same tangent.

. (a). Find the equation of tangent to the curve x = acos*e y = asin®e at any point 'o'and
show that tangent meets the axis of coordinate at two points such the sum of their distance from
origin is constant. (OR)

2 2

2
(b).Show that for the hypocycloid x3 + y3 = aa that portion of the tangent included between
the coordinate axes is constant and is equal to a.

7. (a).Find the condition that the curves ax? + by? = 1 and a;x* + b;y* = 1 shall cut

orthogonally. (OR)

(b).Find the angle of intersection of the cardioids 7 = a(1 + cos @) and r = b(1 — cos 8)
Part-C (1*8=8)
mtngman —
(OR)
point of the curve x = a(cos@ +6sin@) y = a(sinb —

8. (a). If the line xcosa + ysina = p touches the curve x™y™ = 1 prove that p

(m + n)™* " sin" a.cos™ a
(b). Show that the normal at any > C
6 cos ) is at a constant distance from the origin
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Date: 26102018

s - v Class: T BSe{Maths)
D 1000 am 10 01,00 do e
e 000 am o 0100 pm Max Marks: 75

Part-A{10* =10 marks)

3 wa &
T ¥ t . !
- i

3‘}',‘ FROTN =3 P
R IangEnl at (xy) to the curve y={{x) is ... LA 3T

n

W CUNT D= b . o
< curve = af | the polar subtangent varics 8s......., Lo/ I

P
/:
7,
4
’.1

f-7

¢
8

B \-‘ S . o~ a
-The eavelope of the family of cireles (x — @)¥4y? = 2ais...... 2.0 b, "

......... -y
i-‘\y - a Ty Yo \ . \ s 3
tormula for radius of curvature in cartesian form is.... Ly 0 )
; 1%,\ B R e -~

2. the asympretic direction of the curve x¥ + y3 = 3axy is... .0 = ©

& The s b e P, SR

ST proquationfor r* = @ cosn B is o W o
R J,,"‘

ol o

T.In the inteeral 5 [57Y e B -
the mtegral }O K=, 7 xydydx | x varies from M. to.. =22 3).

‘a ™~ 4

N S ni> N N

8. In 2 riple integral, when integrating with respect to v .then X and z are.. Ssraes
2. The value of the integral [ e dxis....l...

10.1f 0> 0, the value of T(n +1) is.... . Anronls

Part-B(3*5=25)

[LAnswer all the Questions.Choosing Either (a) or (b) [ =,
CA Y L 4 4

11.2.At which point on the curve y = x> — 12x + 18, the tangent will be parallel to the x -axis?
() 1 ,. t h
(Or) R o

. >*'5 For the curves y2 = 4x and x? = 4y find the angle of intersection (oep) Caray Yo=Y
[ 2.aFind ;}\l’e co-ordmatec of the centre of curvature of the curve xy = 2 at the point 2.b R T
. N ‘/\/ *,"' e (()r) . !\ \ *_1’ Ny T 3
A 2 - X=22 V2 hogs oy, ey
/‘b’?nd %e radius of curvature of the cardioids r=a(l—cosB) o W Zreer .
g’L.a. Find the asymptotes of the curve x(x — Y2 =32 -y)+8y=0 TeE w2 C"

g 2R~ (OT)

~

b.Find the equation of the curve which has the same asvmptotes as the curve exd — 6yx? + 1lxy* —6y° +

x+y+1=0. and which touches the axis of x at the origin and goes through the point(3.2)

14.a Evaluate ﬁ(\ - v ) dx d\' over the region for which X 2 0,y20,x+y<l.

=\ (Or)

L)

b.Evaluate [f r3sin®6 dr dOover the area of the civcle o]
15.a.Prove that T ;—_,»=\fﬁ

{Or)

1 odx
b. Evaluate: fo e
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